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c}d ²¥¾^c  

   

 

 qHc\p HcHy q²¾crIV Hc de} qH qBg \of²¾ \§Wc Wy N\y h}By 7 \¥²y¾ + 2 ²¾Hfy 

h²¾¾ & 

 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ Wy kcvc qd§IV & 

 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 30 \of²¾ h²¾ & 

 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 

 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 

\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 

qdIVJy & 

  Please check that this question paper contains 7 printed pages + 2 Maps.  

  Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 30 questions. 

  Please write down the Serial Number of the question before 

attempting it. 

  15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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g¥HqdW \orqIAp – II 

SUMMATIVE ASSESSMENT – II 

g`pqOH qeqJAp²¾ 
(\¥Op^r EdXp) 

SOCIAL SCIENCE 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 90 

Time allowed : 3 hours Maximum Marks : 90 

qeAp\H q²¾cYyf : 

(i) qBg \of²¾ \§Wc qeM Htd 30 \of²¾ h²¾ & gpcy \of²¾ kcvcr h²¾ &  

(ii) hc \of²¾ Yy gp`ªVy Eg dBr q²¾cZpqcW A¥H qd§Iy h}By h²¾ &  

(iii) \of²¾ g¥qIAp 1 W~ 8 WH ^htW N}Ry E¨Wc epdy \of²¾ h²¾ & hc qBH 
\of²¾ 1 A¥H Yp h± & qB²¾ªp£ qe§M} hc qBH \of²¾ Yp E¨Wc 30 f^Yp£ W~ 
qkApYp ²¾hs h}Vp MphrYp h± & 

(iv) \of²¾ g¥qIAp 9 W~ 20 WH hc qBH \of²¾ 3 A¥H Yp h± & qB²¾ªp£ qe§M} hc 
qBH \of²¾ Yp E¨Wc 80 f^Yp£ W~ qkApYp ²¾hs h}Vp MphrYp h± & 

(v) \of²¾ g¥qIAp 21 W~ 28 WH hc qBH \of²¾ 5 A¥H Yp h± & qB²¾ªp£ qe§M} 
hc qBH \of²¾ Yp E¨Wc 120 f^Yp£ W~ qkApYp ²¾hs h}Vp MphrYp h± & 

(vi) \of²¾ g¥qIAp 29 AWy 30 qBqWhpg AWy _vJ}d Yy `p²¾qM§Wc g¥ ¥̂Zr \of²¾ 
3-3 A¥H Yy h²¾ & _cy h}By `p²¾qM§Wcp£ ²¥¾v Ap\Vr E¨Wc \tgqWHp Yy 
A¥Yc ²§¾Xr Hc} &  
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1. gqWApJqch Yp Hr AcX h± ? 1 

2. AJ²¾r`Br (igneous) AWy \qcecW²¾frd M§Rp²¾p qeM IqVO qH§Xy q`dYy h²¾ ? 1 

3. d}HW¥Wc qeM \pcYcfWp Yp AcX g\fR Hc} & 1 

4. \±HRp£ E\c N\y eZ W~ eZ \cMv²¾ Hr`W WthpTy dBr qHez dp_YpqBH h± ? 1 

5. I\WHpc (E\_}JWp) Yy MtV²¾ Yy AqZHpc Yr Ed¥KVp Yp qBH EYphcV  

qYG & 1 

6. d}HW¥Wc Yy AcX ²¥¾v g\fR Hc} &  1 

7. _pcW Yy qHgy qBH cpO²¾rWH Yd Yp ²¾p` qdI} qOgYp O²¾` A¥Y}d²¾ W~ 

h}qBAp h}ey & 1 

8. `tYcp Yr ecW~ ²y¾ egWv qeq²¾ ỳ (egWvAp£ Yy d±V YyV) ²¥¾v qHez Agp²¾ ^Vp 

qY§Wp ? qBH EYphcV qYG & 1 

9. E\_}JWp gtcqIAp AqZq²¾a` (H}\cp), 1986 Yy A¥WcJW E\_}JWp qeepYp£ 

²¥¾v q²¾^ym²¾ Yy dBr qW¥²¾ HWpcr q²¾Ap AYpdWr W¥Wc Yr `hWWp Yp qefdyfV 

Hc} & 3 

10. ^htcpfRcr H¥\²¾rAp£ qHez g¥gpc-_c Yy EW\pY²¾ ²¥¾v qBH Yvgcy Yyfp£ qeMHpc 

O}mYrAp£ h²¾ ? EYphcVp£ Yy Hy g\fR Hc} & 31=3 

11. _pcW qeM ^|Hp£ Yr qHgy qW¥²¾ EZpc g¥^¥Zr gcJc`rAp£ ²¥¾v g\fR Hc} & 31=3 
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12. Y^pe-g`vh AWy A¥Y}d²¾ qHez d}HW¥Wc ²¥¾v `O^vW HcYy h²¾ ? g\fR Hc} & 31=3 

13. ‘‘_pcW qeM IqVOp£ Yr e¥T Ag`p²¾ (qBH Ohr ²¾hs) h± &’’ EYphcVp£ Yy Hy 

qBg HX²¾ Yr \tfRr Hc} & 31=3 

14. ‘gt²±¾hcr MWtc_tO’ `hp£-cpO`pcJp£ YrAp£ qHgy qW¥²¾ qefyfWpep£ Yp `td¥HV  

Hc} & 31=3 

15. d}HW¥Wc qeM qec}Zr \§I cpO²¾rWH Ydp£ Yr _vq`Hp Yp qefdyfV Hc} & 31=3 

16. 1830 Yy YhpHy qeM avc}\ qeM ApBrAp£ qHgy qW¥²¾ ApcXH `tfHdp£ Yp ecV²¾ 

Hc} & 31=3 

Op£ 

qgqIAp Yy IyWc qeM ³cp£grqgAp£ ²¥¾v qeaW²¾p` qeM ApBrAp£ qHgy qW¥²¾ 

g`qgApep£ Yp ecV²¾ Hc} &  

17. d}HW¥WcpW`H qeegXp W~ qHhmy t̀§dp£ Yy AZpc Wy qBh E`rY Hc²¾p E¨MW h± 

qH Eh qBH gY_pe\vc²¾ g`pOH Ore²¾ E\d^Y HcepByJr ? g\fR Hc} & 31=3 

18. ³cecr, 1922 qeM Jp£ZrOr ²y¾ ‘²¾pq`decW²¾ (Agqha}J) A¥Y}d²¾’ ²¥¾v epq\g 

d±V Yp ³±gdp qHE¤ HrWp ? H}Br qW¥²¾ Hpc²¾ g\fR Hc} & 31=3 

19. ‘gqe²y¾ AeqJAp A¥Y}d²¾’ (qged ²¾p³tc`p²¾r A¥Y}d²¾) qeM Hpc}^pcr ecJ 

Yr _vq`Hp Yp `td¥HV Hc} &¾ 3 

20. _pcW qeM YtcJ-^gWc-M¥Yc\tc d}hp H§Mr ZpW \yRr (IyWc) YrAp£ qHgy 

qW¥²¾ qefyfWpep£ Yp ecV²¾ Hc} & 31=3 
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21. EYpcrHc²¾ qHg ²¥¾v Hqh¥Yy h²¾ ? _pcWr AcX qeegXp E\c EYpcrHc²¾ Yy 

qHgy Mpc \o_pep£ Yp ecV²¾ Hc} & 1+4=5 

22. NvApNvW Yr g`qgAp ²¥¾v IW` Hc²¾ Yy dBr Jp£ZrOr Yy cphs HrWrAp£ JBrAp£ 

H}qffp£ Yr qeApqIAp Hc} &  51=5 

23. _pcW qeM EYa}Jp£ Yr gXp²¾HWp ²¥¾v \o_peW Hc²¾ epdy qHgy \¥O HpcHp£ Yr 

\cI Hc} & 51=5 

24. _pcWr AcX qeegXp E\c qeferHc²¾ Yy qHgy \¥O gHpcpW`H \o_pep£ Yp 

qefdyfV Hc} & 51=5 

25. ‘‘cpfRcepY Yr \±hdr g\fR Aq_qeAHWr 1789 qeM ‘³cp£grgr Hcp£Wr’ Yy 

²¾pd h}Br &’’ qBg HX²¾ Yr \cI Hc} & 51=5 

Op£ 

E²¾ªp£ Hpc²¾p£ Yr \cI Hc} qO²¾ªp£ ²y¾ A ỳqcHp ²¥¾v qeaW²¾p` Yy qectZ at§Z W~ hRV 

Yy dBr `O^vc HrWp & 

26. ‘‘gpcy Yyfp£ AWy gpcy hpdpWp£ qeM H}Br _r Ydr qeegXp ApYcf ²¾hs h± &’’ 

HX²¾ Yp qefdyfV Hc} & 51=5 

27. _pcWr AcX qeegXp qeM cgpqBV EYa}J Yr _vq`Hp Yp qefdyfV Hc} & 51=5 

28. d}HW¥Wc YrAp£ qHgy \¥O qefyfWpep£ Yp ecV²¾ Hc} & 51=5 
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29. qW¥²¾ d§NVp£ A, B AWy C,  _pcW Yy qY§Wy h}By cpO²¾rWH cyIp `p²¾qM§Wc (\¥²¾p  

9 Wy) qeM A¥qHW HrWy JBy h²¾ & qB²¾ªp£ d§NVp£ ²¥¾v hyS¾ qY§Wr OpVHpcr Yr 

`YY ²¾pd \NpV} AWy qB²¾ªp£ Yy ghr ²¾p`, `p²¾qM§Wc qeM qI§MrAp£ h}BrAp£ 

cyIpep£ Wy qd§I} : 31=3 

A. Eh ²¾Jc O} OqdAp£epdp ^pJ Yy HWdyAp` ²¾pd OtqmAp h± & 

B. Eh Xp£ qOXy _pcWr cpfRcr Hp£Jcyg Yp AOdpg (AqZeyf²¾) h}qBAp 

gr & 

C. Eh Xp£ qOXy Jp£ZrOr ²y¾ ²¾`H H²¥¾v²¾ W}qmAp gr &  

²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRr qeHdp£J \orqIApcXrAp£ Yy dBr \of²¾ g¥qIAp 

29 Yy Xp£ ^Ydez \of²¾ h²¾ : 

(29.1) OqdAp£epdp ^pJ Yr KR²¾p£ ²¾pd Otmy fqhc Yp ²¾p` qd§I} & 

(29.2) Eg cpO Yp ²¾p` qd§I} qO§Xy ²¾rd Yr IyWr Hc²¾ epqdAp£ ²y¾ 

gqWApJoqh HrWp gr & 

(29.3) Eg Xp£ Yp ²¾p` qd§I} qO§Xy Jp£ZrOr ²y¾ ²¾`H H²¥¾v²¾ W}qmAp gr & 31=3 

30. _pcW Yy qY§Wy JBy cpO²¾rWH cyIp `p²¾qM§Wc (\¥²¾p 11 Wy) qeM hyS¾ qdqIAp£ ²¥¾v 

UtHez qM²¾hp£ ²¾pd YcgpG AWy E²¾ªp£ Yy ²¾p` qd§I} : 31=3 

A. ²¾c}cp – ApVqeH FcOp g¥a¥Wo (q²¾avHqdAc \pec \dp£R) 

B. WvWrH}qc²¾ – \o`tI g`t¥Ycr ^¥YcJph 

C. q_dpBr – d}hp AWy Ag\pW HpcIp²¾p 
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²}¾R : hyS¾ qdqIAp \of²¾ Hyed qYofRr qeHdp£J \orqIApcXrAp£ Yy dBr \of²¾ g¥qIAp 

30 Yy Xp£ ^Ydez \of²¾ h²¾ : 

(30.1) Eg cpO Yp ²¾p` qd§I} qO§Xy ²¾c}cp ApVqeH FcOp g¥a¥Wo 

(q²¾avHqdAc \pec \dp£R) gqXW h± & 

(30.2) Eg cpO Yp ²¾p` qd§I} qO§Xy WvWrH}qc²¾ g`t¥Ycr ^¥YcJph gqXW h± & 

(30.3) q_dpBr d}hp AWy Ag\pW HpcIp²¾p qHg cpO qeM gqXW h± ? 31=3 
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\of²¾ g¥. 29 Yy dBr 

_pcW Yp cyIp `p²¾qM§Wc (cpO²¾rWH) 
   Outline Map of India (Political) 
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\of²¾ g¥. 30. Yy dBr 

_pcW Yp cyIp `p²¾qM§Wc (cpO²¾rWH) 
   Outline Map of India (Political)  
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